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K= 4 9 1 455 76 413 7 961 1,083 88.7 961 1,083 88.7
A H 1 70 204 275 250 1100 275 250| 110.0
H g 2 132 22 101 3 260 256  101.6 260 256|  101.6
VA 3 62 4 28 97 82| 1183 97 82| 1183
AR 7 2 75 84 66 127.3 84 66| 127.3
SUBARU 146 14 160 132 1212 160 132 1212
A INY 1 14 15 25 60.0 15 25 60.0
=t 1 40 1 16 6 64 52|  123.1 64 52|  123.1
AN 41 1 2 31 10 85 75| 1133 85 75 1133
EE5; 25 6 8 39 31 125.8 39 31 125.8
ZHESTD 28 2 15 4 49 37| 1324 49 371 1324
UDK7 7 A 16 1 2 19 3| 6333 19 3| 6333
& D [E] PE 3 18 21 26 80.8 21 26 80.8
i) A H 11 114 14 18 157 134 1172 157 134 1172
&t (E) 140 4 1,029 172 883 0 34 24 2,286 2,252 1015 2,286 2,252 1015
ATAER A 5 (F) 105 10 997 154 923 39 24 2,252
W k. E/F %| 133.3 40.0 103.2 111.7 95.7 87.2 100.0 1015
A A (G) 174 7 1,349 235 1,031 81 55 2,932
Wt E/G% 80.5 57.1 76.3 73.2 85.6 42.0 43.6 78.0
LA DD BE (1) 140 4 1,029 172 883 34 24 2,286
ARG (1) 105 10 997 154 923 39 24 2,252
F e H/T% 133.3 40.0 103.2 111.7 95.7 87.2 100.0 101.5




